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October 15, 2002

S. Lang


Assignment #5 (Presentations 16, 22 – 24)


1. (Cellular Automata, 2 pts) Using the rules of the Game of Life (see Text, p. 296) show the next 3 configurations given the following initial configuration:




2. (VLSI Computers, 2 pts.) Describe all the layers that the VLSI circuits are fabricated on.

3. (Linear Programming, 3 pts.) Consider the following LP (linear programming) problem:

Maximize z = x1 + x2, subject to the constraints
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where the variables x1 and x2 are ( 0.

(a) Solve the LP problem by first finding all the vertices of the region bounded by the constraints.

(b) Solve the LP problem by using the simplex method, i.e., show all the iterations and the final tableau and the maximum z value.

A useful website that explains the simplex method is at http://www.ubmail.ubalt.edu/~harsham/opre640A/partIV.htm#rintro. 

4. (Predicate Calculus, 3 pts.) Encode each of the following statements using predicate calculus (and its notations such as “for all” ( and “there exists” ():

(a) Nobody likes taxes.

(b) Every dog is an animal.

(c) Every boy has a bicycle.














































